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const int MAXN=2e5+5;
namespace SA
int salMAXN|,x[MAXN]|,y[MAXN|,c[MAXN];
void get sa(char *s,int n,int m){//sO000100
_rep(i,0,m)c[i]=0;
rep(i,l,n)cixiil=s[i] |[++;
_rep(i,l,m)clil+=cli-1];

int i=n;i;i--)salc|x[i]]--1=1i;

int k=1;k<n; k<<=

int pos=0;

_rep(i,n-k+1,n)yl++pos|=1i;

_rep(i,1,n salil>k)y[++pos|=salil-k;
_rep(i,0,m)clil/=0;

i
_rep(i,1,n)c[x[1]]++;
_rep(i,l,m)cli|+=cli-1];
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int i=n;i;i--)salcixlyli --1=yl[i],y[i]=0;

swap(Xx,y);

pos=0,y[n+1]=0;
~rep(i,l,n)x[salill=(ylsalil|==yl/sali- &ylsalil+k/==ylsali-1/+k|)?pos:++
pos;

pos== ;
m=pos;

char buf [ MAXN];
int main

scanf("%s",buf+1);
int n=strlen(buf+1);
_rep(i,l,n)bufl[i+n|=bufli];
buf [ 2*n+1]="\0";
SA::get sa(buf,n<<l,'z');
_rep(i,1,2*n

SA::salil<=n

putchar(buf[SA::sali/+n- o
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